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G = tf(1, [1 _ 1]); '

-

n Figure 1 h |
bOde (G)’ I7IWF) BE(E) TRV) BA) Y—IUT) :‘r::({;'hwj"(t:-: D1 2 FO(W) ~LTH)
. L 3 2, & B oL E =
| gl‘ldgon NEES | MARODEL - E|0E|aD
i
" - m~r:lm
i a1 1]
| =20
o 30|
il 3
B 40
=50

F)yR RN R R
N °

T o 2
| AZUT | -
B ) ]
4 i :
IR L R R AT O SR AR LI I NI R L 1T e e SRR R REL1
I 1o 107 107! 10" 10! 10t 10"
RE# (radd=s)
W




’T*f/&ﬁ*ﬁ’éiﬁ&)’ﬁm(

T Untitled

 TREN [FEERTS

TTAUF) REE) FEINT)
j,jﬂ YRR LD Aa B E:@@‘@ I

=N=H - [10 + | + |11

E@]{G] tI{C) w—{0) FI)lwi(B) »

x Iﬁlﬁ"'l'ﬂ

I
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[mag, phase]

I

= bode(G, omega);

mag db = 20*logl0(mag);
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figure(1)

l X %21715 u\iuu:lﬂﬁl =
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omega = logspace(-2, 2, ;
ga = logsp ) £ 53
subplot(2,1,1)
semilogx(omega, mag db(:),'r','Linewidth',2)
grid on
FAVDKEE
subplot(2,1,2) linewidth
semilogx(omega, phase(:),'r','Linewidth',2)
grid on
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omega = logspace(-2, 2, 100);

semilogx(omega, mag db(:))

grid on

xlabel(‘¥omega [rad/s]','fontsize',18,'fontname’','times")
ylabel('Gain [dB]','fontsize',18,'fontname’,'times')
subplot(2,1,2)

semilogx(omega, phase(:))

grid on

xlabel(‘¥omega [rad/s]','fontsize',18,'fontname’','times")
ylabel('Phase [deg]','fontsize’,18,'fontname’,'times')
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omega = logspace(-2, 2, 100);

label('Gain [dB]','fontsize',18,'fontname’,'times')
set(gca,'fontsize',18)

set(gca,'fontname','Times New Roman')
set(gca,'linewidth',1)

subplot(2,1,2)

ylabel('Phase [deg]','fontsize',18,'fontname','times')
set(gca,'fontsize',18)

set(gca,'fontname','Times New Roman')
set(gca,'linewidth',1)
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omega = logspace(-2, 2, 100);

set(gca,'linewidth',1)
axis([le-2 ., 1le2 ., -40 _, 20])
set(gca,'xtick',[1e-2,1e-1,1e0,1¢e1,1¢€2])

subplot(2,1,2)

set(gca,'linewidth',1)

axis([le-2 ., 1le2 _, -180 _, 90])
set(gca,'xtick',[1e-2,1e-1,1e0,1¢e1,1¢e2])
set(gca,'ytick',[-180, -90, 0, 90])
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Gr(s) = — Gols) = —

s+1 " 10s + 1

omega = logspace(-2, 2, 100);

mag db = 20*logl0(mag);

G2 =tf(1, [10 1]);

[mag2, phase2] = bode(G2, omega);

mag?2 db =20*logl0(mag2);

figure(1)

subplot(2,1,1)

semilogx(omega, mag db(:),'Linewidth',2)
hold on

semilogx(omega, mag2 db(:),'r','Linewidth',2)

subplot(2,1,2)

semilogx(omega, phase(:),'Linewidth',2)
hold on

semilogx(omega, phase2(:),'r','Linewidth',2)
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